
B

A

49124 www.tvilum.com  Rev. A   16-10-2023



3-4 hr X2
  

READING GUIDE - 2A
VERSION 3
25-08-2022

753952 / 28



15x14x10 mm
0.59x0.55x0.39"

x80110401

Ø5x30 mm
Ø0.2x1.18"

x240120203

Ø6,3x40 mm
Ø0.25x1.57"

x160120228

Ø3,5x15 mm
Ø0.14x0.59"

x120125233

Ø0.16x0.59"
Ø4x15 mm

0125503 x20

Ø5,8x9 mm
Ø0.23x0.35"

x160126020

Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x160131513

Ø0.59x0.37"
Ø15x9,5 mm

0131687 x16

1.97x3.54x0.47"
50x90x12 mm

0194009 x2
M4x9 mm
M4x0.35"

x80126214

Ø0.63/Ø0.2x0.04"
Ø16/Ø5x1 mm

0121614 x4

Ø0.16x0.51"
Ø4x13 mm

0125440 x16

28.66x1.66x0.88"
728x40,8x22,3 mm

0117301 x1

2.05/0.47x0.59x5.89"
52/12x15x149,9 mm

0111802 x20110510

344,5x27,5x40 mm
13.56x1.08x1.57"

x2

0141404

17x310/310 mm
0.67x12.20/12.20"

x8

Ø0.12x0.47"
Ø3x12 mm

0125215 x6

M4x0.98"
M4x25 mm

0126234 x6

Ø14x25 mm
Ø0.55x0.98"

x60181051

66x58x10 mm
Ø2.6x2.28x0.39"

x40165865

 491243 / 28



470x474,5x15mm

LD

09758

FB

FB

IC

65861

65861

03336 x2

06085 x2

00753 x2

00754 x2 EE x2

03328 x2

06081 x2

00753 x2

E / EC
00754 x2

x2

x2

 x3  x2

 491244 / 28



470x474,5x15mm

65861 x2

987x391x15mm

LD

589x964x2,5mm

09758

987x391x15mm

IC

580x390x15mm

FB x2

200x35x25mm

65861 x4

922x140x12,2mm

03336 x2

933x342x2,5mm

06085 x2

345x140x12,2mm

00753 x4

345x140x12,2mm

00754 x4

437x140x12,2mm

03328 x2

448x342x2,5mm

06081 x2

474x189x15mm

EC/E

951x188x15mm

EE x2

 x3  x2

 491245 / 28

BOX 1/1



0.67x12.20/12.20"
17x310/310 mm

0141404 x3

Ø0.14x0.59"
Ø3,5x15 mm

0125233 x6

Ø5,8x9 mm
Ø0.23x0.35"

x60126020 *

0125233

*

3

0125233

*

4

0126020

2

0126020

1

Ø5x30 mm
Ø0.2x1.18"

x40120203

2

8

14

FB (1)

1

FB (1)

 491246 / 28

1

2



0.67x12.20/12.20"
17x310/310 mm

0141404 x6

Ø0.14x0.59"
Ø3,5x15 mm

0125233 x6

Ø5,8x9 mm
Ø0.23x0.35"

x60126020 *

0125233

*

3

0125233

*

4

0126020

2

0126020

1

Ø5x30 mm
Ø0.2x1.18"

x40120203

FB (2)
4

10

16 1

FB (2)

 491247 / 28

3

4



Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x40131513

28.66x1.66x0.88"
728x40,8x22,3 mm

0117301 x1

Ø4x13 mm
Ø0.16x0.51"

x160125440

LD

LD

21

 491248 / 28

5

6



2.05/0.47x0.59x5.89"
52/12x15x149,9 mm

0111802 x2

Ø0.16x0.59"
Ø4x15 mm

0125503 x4

Ø0.63/Ø0.2x0.04"
Ø16/Ø5x1 mm

0121614 x4

LD

 491249 / 28

7



Ø5,8x9 mm
Ø0.23x0.35"

x40126020

0.67x12.20/12.20"
17x310/310 mm

0141404 x2

LD

 4912410 / 28

8



Ø0.16x0.59"
Ø4x15 mm

0125503 x16

Ø2.6x2.28x0.39"
66x58x10 mm

0165865 x5

IC

 4912411 / 28

9



Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x40131513

IC

IC

 4912412 / 28

10

11



1 2 3

Ø15x9,5 mm
Ø0.59x0.37"

x40131687

FB

FB

IC

09758

 4912413 / 28

12

13



Ø15x9,5 mm
Ø0.59x0.37"

x40131687

2

1

15x14x10 mm
0.59x0.55x0.39"

x80110401

LD

 XX 

 YY 

XX = YY
 4912414 / 28

14

15



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 1/2

15 / 28



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 2/2

16 / 28



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 1/3

17 / 28



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 2/3

18 / 28



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 3/3

19 / 28



/2821

1.97x3.54x0.47"
50x90x12 mm

0194009 x2

 4912420 / 28

16



?

?

30
m

m
1 

(1
/5

)"

?

1 2 3

4 5 6

7

10 11 12

8 9

17-05-2021 JTJA:
94009 tipover restraint guide
VERSION 1

Assembly guide.

21 / 28  49124



Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x80131513

Ø5x30 mm
Ø0.2x1.18"

x160120203

E / EC

EE x2

00753 x4

00754 x4

 4912422 / 28

17

18



Ø15x9,5 mm
Ø0.59x0.37"

x80131687

EE

00753

00754

x2

E / EC

00753

00754

x2

 4912423 / 28

19



x2

06085

x2

06081

 4912424 / 28

20



0110510

344,5x27,5x40 mm
13.56x1.08x1.57"

x2

Ø6,3x40 mm
Ø0.25x1.57"

x160120228

1

2

3

Ø0.12x0.47"
Ø3x12 mm

0125215 x6

03328

x2
03336

x2

x2
 4912425 / 28

21

22



M4x0.98"
M4x25 mm

0126234 x6

Ø14x25 mm
Ø0.55x0.98"

x60181051

x2

x2

 4912426 / 28

23



x3

1 2

3

M4x9 mm
M4x0.35"

x80126214

EC

EE

EE

 4912427 / 28

24



MAX

lbs

kg

XX
XX kg

lbs
XX
XX

lbs

kg

13
6

lbs

kg

37
17

lbs

kg

20
9

28 / 28 49124© TVILUM A/S 2018




